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QUESTION 1

Which ColdFusion tag allows you to render the body of a file into another?
A. cfoutput

B. CFlInsert

C. CFInclude

D. CFFile

Correct Answer: C

QUESTION 2

A page in your application is accessed at http://localhost/scope.cfm?init=false. In which variable scope is the init
variable available?

A. Attributes
B. Application
C. URL

D. Form

Correct Answer: C

QUESTION 3

What is the value of the variable output when the following code executes?

A. "The answer is one"
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B. "The answer is two"
C. "The answer is three"
D. "There is no answer"

Correct Answer: A

QUESTION 4

What is the order of precedence (greatest to least) for execution of the , onError(), and / error handling strategies?
A. onError, cftry, cferror

B. , onError(),

C., onError(),

D.,, onError()

Correct Answer: B

QUESTION 5

What is the required data type of the tag NESTED attribute?
A. Boolean

B. String

C. Date/Time

D. Numeric

Correct Answer: A

QUESTION 6

You have created a ColdFusion component in your application. Inside that component you need to create a property
called user that CANNOT be seen outside the component.

Which definition creates a user variable that CANNOT be accessed outside the component?
A. this.user = "joe"

B. var user = "joe"

C. variables.user = "joe"

D. properties.user = "joe"
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Correct Answer: C

QUESTION 7

Given the XML object definition:

Ford
1990

Red

Toyota
1995

Blue

KIA
2000

Green
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Which variable correctly outputs the XML document representing the car with name value Ford?

A. #toString(xmlData.cars.car[1])#

B. #toString(xmlData.cars.car[0])#

C. #toString(xmlData.car[1])#
D. #toString(xmlIData.cars[1])#

Correct Answer: A
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QUESTION 8

Which use of in a WHERE clause successfully filters a column named RECORDID to retrieve rows with primary key
values that match a set of values in a list?

A. WHERE recordid IN ()

B. WHERE recordid IN (
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